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試験開始の合図があるまで問題文を見ないでください。 

 

解答用紙が不足する場合は、手をあげて監督者に申し出てください。 

 

解答はすべて解答用紙に記入してください。 

 

英和辞書１冊のみ持ち込み可とします。（ただし、電子辞書・パソコンの辞書機能等、 

電子機器類の使用を認めません。） 

 

試験中に、問題用紙の不鮮明・欠落などに気がついた場合は、監督者に申し出て下さい。 

 

試験の途中で退室することはできません。ただし、気分が悪くなったり体の調子が悪くなっ

た場合などは、監督者に申し出てください。 



問題１ 

 

次の英文(Pinker, Steven. Rationality. UK: Penguin Books, 2021.より抜粋.一部改変)を読んで 

次頁の問いに答えなさい。 

 

Everyone remembers being tormented in high school by algebra problems. The following three 

are simpler ones; you can do them in your head:  

 

• A smartphone and a case cost $110 in total. The phone costs $100 more than the case. How much 

does the case cost?  

• It takes 8 printers 8 minutes to print 8 brochures. How long would it take 24 printers to print 24 

brochures?  

• On a field there is a patch of weeds. Every day the patch doubles in size. It takes 30 days for the 

patch to cover the whole field. How long did it take for the patch to cover half the field?  

 

The answer to the first problem is $5. If you’re like most people, you guessed $10. But if that 

were right, the phone would cost $00 ア    ($100 more than the case), and the total for the pair 

would be $120. The answer to the second question is 8 minutes. It takes a printer 8 minutes to print a 

brochure, so as long as there are as many printers as there are brochures and they are working 

simultaneously, the time it takes to print the brochures is the same. The answer to the third problem is 

29 days. If the weed patch doubles every day, then by working backwards from when the field was 

completely covered, we may infer that it was half covered the day before.  

The economist Shane Frederick gave these questions (with different examples) to thousands of 

university students. Five out of six got at least one of them wrong; one in three got them all wrong. 

Yet each question has a simple answer that almost everyone understands when it’s pointed out. The 

problem is that （イ）people’s heads are turned by superficial features of the problem which they 

mistakenly think are relevant to the answer, such as the round numbers 100 and 10 in the first problem 

and the fact that the number of printers is the same as the number of minutes in the second.  

Frederick calls his low-tech set of questions the Cognitive Reflection Test, and suggests that it 

exposes a split between two cognitive systems, later made famous by Daniel Kahneman in the 2011 

bestseller Thinking, Fast and Slow. System 1 operates rapidly and effortlessly, and it seduces us with 

the wrong answers; System 2 requires concentration, motivation, and the application of learned rules, 

and it allows us to grasp the right ones. No one thinks these are literally two anatomical systems in the 

brain; they are two modes of operation which cut across many brain structures. System 1 means snap 

judgments; System 2 means thinking twice. The lesson of the Cognitive Reflection Test is that blunders 

of reasoning may come from thoughtlessness rather than ineptitude. Even students at the math-proud 

（この部分につきましては、著作権の関係により、公開しません。） 



Massachusetts Institute of Technology averaged only two out of three correct. Performance does 

correlate with math skill, as you’d expect, but it also correlates with 00 ウ   . People who describe 

themselves as not impulsive, and who would rather wait for a larger payment in a month than get a 

smaller one right away, are less likely to fall into the traps. 

The first two items feel like trick questions. That is because they give details which, in the back-

and-forth of conversation,  would be relevant to what the speaker is asking, but in these examples are 

designed to lead the hearer astray. (People do better when the smartphone costs, say, $73 more than 

the case and the combination costs $89.) But of course real life is also baited with siren songs that lure 

us from good decisions, and resisting them is a part of being rational. People who fall for the alluring 

but wrong answers on the Cognitive Reflection Test appear to be less rational in other ways, such as 

turning down lucrative offers that require a bit of waiting or a bit of risk.  

And the third problem, the one with the weed patch, is not a trick question but taps a real cognitive 

infirmity. Human intuition doesn’t grasp exponential (geometric) growth, namely something that rises 

at a rising rate, proportional to how large it already is, such as compound interest, economic growth, 

and the spread of a contagious disease. （エ）People mistake it for steady creep or slight acceleration, 

and their imaginations don’t keep up with the relentless doubling.  

 

（1）空欄 00 ア   に入る数字として最も適当なものを、下の①〜④から 1 つ選びなさい。 

     ① 105 

     ② 110 

③ 115 

④ 120 

 

(2)なぜ下線部（イ）のようになるのかを、本文第 4 段落（Fredrick calls から始まる段落）

の内容を基に日本語で説明しなさい。 

 

(3) 空欄 00 ウ   に入るものとして最も適当なものを、下の①〜④から 1 つ選びなさい。 

① cognition 

     ② computation 

③ patience 

④ innocence 

 

(4)下線部（エ）を、it が何を指すのかを明確にしながら日本語に訳しなさい。 

 

（この部分につきましては、著作権の関係により、公開しません。） 



問題２ 

以下は、イギリスのガーディアン紙に掲載された記事です。各問に答えなさい。 

Night owls may be more prone to heart disease and diabetes than early birds because their 

bodies are less able to burn fat for energy, US researchers say. 

(A)People who rise early rely more on fat as an energy source, and are often more active in the 

day, than those who stay up later, meaning fat may build up more easily in night owls, the 

scientists found. 

The findings may help explain why night owls are at greater risk of type 2 diabetes and 

cardiovascular disease, and may help doctors to identify patients early on who are more likely to 

develop the conditions. 

“This could help medical professionals consider (B)another behavioural factor contributing to 

disease risk,” said Prof Steven Malin, a senior author on the study and expert in metabolism at 

Rutgers University in New Jersey. 

The researchers divided 51 obese middle-aged adults into early birds and night owls, depending 

on their answers to a questionnaire on sleeping and activity habits. They monitored the 

volunteers’ activity patterns for a week and tested their bodies’ fuel preferences at rest and 

while performing moderate or high-intensity exercise on a treadmill. 

Writing in Experimental Physiology, the team describe how early birds were more sensitive to 

blood levels of the hormone insulin and burned more fat than night owls while at rest and during 

exercise. The night owls were less sensitive to insulin and their bodies favoured carbohydrates 

over fat as an energy source. 

Malin said it was unclear why differences in metabolism were seen in night owls and early 

birds, but one possibility, he believes, is a mismatch between the time people go to bed and 

wake the next morning and the circadian rhythms that govern their body clocks. 

“Night owls are reported to have a higher risk of obesity, type 2 diabetes and cardiovascular 

disease when compared with early birds,” he said. “(C)A potential explanation is they become 

misaligned with their circadian rhythm for various reasons, but most notably among adults 

would be work.” 

（この部分につきましては、著作権の関係により、公開しません。） 



If a person is a night owl, Malin added, they may prefer to go to bed late but still have to get up 

early to go to work or to look after children, and this may force them to be out of alignment with 

their body clocks when they would rather be sleeping. 

(D)The findings could affect discussions around the health risks of night-shift work and even 

changing the clocks to suit daylight hours. “If we promote a timing pattern that is out of sync 

with nature, it could exacerbate health risks,” Malin said. “Whether dietary patterns or activity 

can help attenuate these is an area we hope becomes clear in time.” 

 

注： night owl 夜型の人、early bird 朝型の人、type 2 diabetes 2 型糖尿病、cardiovascular disease 

心血管疾患、treadmill ルームランナー、carbohydrate 炭水化物、obesity 肥満 

 

 

(1) 下線部(A)を日本語に翻訳しなさい。 

 

 

(2) 下線部(B)が指す内容を 20 字程度で説明しなさい。 

 

 

(3) 下線部(C)を日本語に翻訳しなさい。 

 

 

(4) 下線部(D)を日本語に翻訳しなさい。 

 

 

（この部分につきましては、著作権の関係により、公開しません。） 



出 題 意 図  

 

問題１ 

英語の基礎的な知識と総合的な英語力を問うことが出題の意図である。具体的には読解力、

文法や語彙の知識などの知識を幅広く評価する問題となっている。 

 

 

問題２ 

英語テキストの読解力と日本語への正確な翻訳能力を問う。特に、英語文法を理解したうえ

で訳すことができているかを問う。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 解 答 例  

 

問題１ 

（1）② 

 

 

（2）二つの認知システムの内一つ（システム１）は急速かついとも簡単に働き、それゆえ

に間違った答えへと人を誘導するため。 

 

 

（3）③ 

 

 

（4）一般的に人は指数関数的成長を一定の変化あるいは緩やかな増加と見誤ってしまい、

絶え間なく続く倍増に想像が追い付かなくなってしまうのである。 

 

 

 

問題２ 

(1) 早起の人は、夜更かしの人よりも脂肪をエネルギー源としてより多く消費し、その日を

通じてより活発となりやすい。つまり、夜更かしの人には脂肪が蓄積されやすいことが、

科学者たちの研究から明らかになった。 

 

 

(2) 早起きか夜更かしかという行動パターン 

 

 

(3) 潜在的な説明として、体内時計が乱れるさまざまな理由が考えられるが、特に成人では

仕事が原因であることが多い。 

 

 

(4) これらの研究結果は、夜勤の健康リスクに対する議論だけでなく、時計を日照時間に合

わせるように変更する議論にも影響を与える可能性がある。 
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